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7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/mM#%#8% % - -~ -|3mEi#BZ B ~ -
s 1.00 | 0.00 ~ 468 5834 | =nRS | 000 ~ 468 1.84 928 st 1.00 | 6.00 ~ 5.00 58.34 | =nRS | 500 ~ 65.00| 1.84 9.28
2 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ -| 100kN/mM#%#8% % -~ -|3m%Ei#BZ B ~
s 1.00 | 0.00 ~ 6.12 76.83 | FnLS | 0oo ~ o000| 1.74 878 st 1.00 | 6.00 ~ 7.04 76.83 | TNLSY | 500 ~ 7.04)| 1.74 878
3 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
s 1.00 | 0.00 ~ 5.16 64.56 | TN | 000 ~ 000| 1.75 8.86 st 1.00 | 6.00 ~ b5.54 64.36 | TS | 500 ~ 5564| 1.75 8.86
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
s 1.00 | 0.00 ~ 6.03 75.55 | FnS | 0oo ~ o000 1.73 873 st 1.00 | .00 ~ 6.88 75.55 | TRSY | 500 ~ 688 1.73 873
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
s 1.00 | 0.00 ~ 4.50 56.17 | =N | 000 ~ 450 2.14 10.83 st 1.00 | 6.00 ~ 6.20 56.17 | =h4 | 5,00 ~ 620 2.14 10.83
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
s 1.00 | 0.00 ~ 697 8840 | =nst | 000 ~ 697 1.81 915 st 1.00 | .00 ~ 871 88.40 | =nhs | .00 ~ 871 1.81 915
7 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
s 1.00 | 0.00 ~ 6.07 76.06 | NS | 000 ~ 607 1.94 9.82 st 1.00 | 6.00 ~ 754 76.06 | TNLSY | 6,00 ~ 7.64| 1.94 9.82
P 100kN/m%E#8z5 | 1.00 |1 000 ~ 019 10283 |3mEiBz% ~ -] 100kN/mZE#8z5 | 1.00 | 10564 ~ 11.05| 10283 |3mZE#BZ5 ~
s 1.00 | 019 ~ 798 100.00 | =St | 000 ~ 798| 2.21 11.19 st 1.00 | 6.00 ~ 1054 100.00 | =nhist | 6.00 ~ 1105) 2.21 11.19
9 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
s 1.00 | 0.00 ~ 766 9816 | #nst | 000 ~ 7.66| 2.32 11.73 st 1.00 | 6.00 ~ 1054 98.16 | =n4 | 5,00 ~ 1054| 2.32 11.73
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM%#8% % ~ -|3mEi#BZ B ~
s 1.00 | 0.00 ~ 758 97.00 | #nRS | 000 ~ 7.58| 2.36 11.91 st 1.00 | 6.00 ~ 1052 97.00 | =n4 | 5,00 ~ 1052] 2.36 11.91
11 100kN/m##8x5 | 1.00 | 0.00 ~ 0.01 100.09 |3m%EiBZ 5 ~ -1 100kN/mZ#z% | 1.00 | 1068 ~ 10.70| 100.09 |3mZE#BZ5 ~
s 1.00 | 001 ~ 7.79 100.00 | =nst | 000 ~ 7.79 | 2.10 10.64 st 1.00 | 6.00 ~ 10.68 100.00 | =nst | 6.00 ~ 1070 2.10 10.64
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




